FEYE N T 7 BLRHEE S X AR AL D fE

BRIERIRE SR
(B FS7EXHR)

BREfEIREE FE 3PL

W35=PL
[ 20<PL=35
[ 110<PL=20
[ 5<PL=10
[ 0<PL=5

Z)\ETHIEpESGTE ERiR (CERR2 OFEISIEM) KD —Biki%



B — 540 — U A kRIS K D RIb DO falbRE

BAIERERE SR
(BZ -2 —NATHMBEHHHR)

BRI ERRE S HPL

W35=PL
[ 20<PL=35
[ 110<PL=20
[ 5<PL=10
[ 0<PL=5

Z)\ETHIEpESGTE ERiR (CERR2 OFEISIEM) KD —Biki%



Ri] < W7 g R HUBR U K 2 eRAb D fE R EE

BARERERE 5 W
(B <5 M7 FE e Hh )

Z ) \ BT Bh G T @

IR EIRERRPL

M35=PL
|20<PL=35
10<PL=20
5<PL=10
0<PL=5

SRR (A2 OFEIBIENRD) KD —8RM



S 1| Vi Jeg MR L K 2 WRARAb D e e

BARERERE 77
(B2 BT Bt =)

Z ) \ BT Bh G T @

BAREERERHPL

M35=PL
20<PL=35
10<PL=20

5<PL=10

0<PL=5

SRR (A2 OFEIBIENRD) KD —8RM



sl - KW HUR S K D R b o falkE
BIRERRE S R
CTEPNEL =D 3:0)-)

BRIEfEIRE R HPL

W 35=PL
1 20<PL=35
10<PL=20
| 5<PL=10
0<PL=5

Z)\ BT SGTE ERiR (K2 OFEIBIEMD) KD —8ikiG



